EARAROBREBRT —5 XN—ZXBISH—F

20226685238 (A) 7OIEHHH

I C3— YS5R4mt (m | mewE - | v wo
[xE<%] 1% :500,000  23&:200,000 W  33&:125,000 ™ . 43%&:75000 M . 53&:50,000H
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
® ~ REBRELR : -3-3- - FEEFI— (Fak)
1 )| RU—LUY 4t 6 9 1.(3_3).8 3-3-3-3 | 41.5 6 (4_753) R
RiFxVy v /Ek B:RAA/UY =t
o sy < SREE : -2-1- - AT (FR)
218|9 | ¥TILTYILOY 6 a0 (17'35}% R R ! (4217) e
RIZAZAT—RAUTA B:N\IXF 757 RIS
s -~ w EmiE— : -1-1- - BAE— (Tl
317 g | K= wvah— 4% 5 5 1(73?:? 1-1-1-1 | 41.9 3 (4_135; fiF%EE( )
RIALNSRYIR BT Reox—Va £ &
~, o » {ERARHRE : -5-4- - ArifE (RH)
alzl7 | 7v9—E25 9 # 5 Ll 1.(35z§.7 5-5-4-4 | 41.9 2 (4_838) e
RIZATVFUY B:OVF—AF— KIS
" "o . AAE :34. -9-10- . - RAIZ=E (BH)
s 11| 7O0—253—L K B 5 *55{_0 1(33/42)8 9-9-10-9 | 41.1 7 (4:117) Uk
R:T=ILRY YT B:N—LYA R #HE77—LA
===\ s 4 | BEAH 1:35.2 8-7-8-8 |42.3| — 4 483 | ERER (T
6l8l10 ¥T==7v—0O 2530 21/ () | TESRIK—ILT (VTR @)
R4 D—)LEY B:5TIvU— REFHUZ
» g o4 | RER 1:35.4 7-8-7-7 | 42.3| - 9 M8 | KBE= (EH)
7155 | NF/TUER 56.0 a1/2 (5 | REREF
R:ZTU=F4 B:N\F/TIUR T BB
© —n — JERERIE 3 -10-9- - Bl (BHE)
8 6 | IVTIRF A5 7 B (17.3;%1) 10-10-9-10 | 41.8 8 (5+016) a%%f
R:O0—RAFO7 B:FAHTURAIR #HEIT7—L
Iw 7 | KLUBEXER 1:35.7 4-4-5-6 | 43.0 | -— 5 466 | LLoTIB@ (FEkE)
9 [ 3| FVAOYVIR " %55.0 a1 ) W) Jr—Z Ty
RiANTI—YI B:9=/0-¢ FEHEZ S Y R
°rj— 4 6 | EREM 1:35.9 6-5-6-5 |43.2| — 10 | 428 |E#EZ (EH)
10 4 |/NT—0O7D 56.0 (3/4) (5 | @ F0
RN—HANR B:RFARIKRIS A=
@ 11— —BERIEI
13—3+— |8,9,2,3,7.4,5,10,1.6
20— — 8,9,2,3,(4,7),10,5,1,6
Fol=zr= (8,9),2,7,3,4,5,10,6,1
40—7F— (8,9),2,7,4,3,5,10,1,6
0 ILRE
BB 2 3,760 JA R 2-9 440M & 2-8 1,020 3ER 2-8-9 1,370
B B 2 370M4 2-8 840/ 5 & 230 1,290 3Es 2-9-8 30,530MH
9 110/ 8-9 2004 oS- 1 2-9 7,530
8 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




